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Objectives: This questioo ir..@
1) The basic function 

_of 
a transformer is to .t arg.: 

-

@ Trrr levelofvoltage.

Student lYame:
Student l{umber:

b) The power level.
c) The frequency.
d) The potver factor.

2) Transforrners use laminated core to:
@ Reduce eddy current loss.
b) Reduce eddy current and hysteresis loss.
c) Ensure good magnetic coupling
d) All ofthe above

3) Transformer action requires
a) Constant magnetic flux.
!) Increasing magnetic flux.
@ Alternating magnetic flux.
d) None of the above

a) 
Jhe leakage flux of prim ary andsecondary windings can be reduced to
the minimum by

"Q .Yygirgprimary and secondary coils on separate limbs.
19} Winding primary and secondary coils or. ,pon the other

coa.rially.
c) Increase the number of tums.

_ -. 9l Employing lorv permeability magnetic material core.5) \l&ich of the following rvindings will be praced nearest to the core of
transformer to reduce insulation requirements?

a) Primary
b) Secondary
c) High voltage

@ Low voltage
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Ouestion 2: 6Mork)
objectives: This question is related to open circuit and short circuit tests
A single phase 10 KVA, 500/250V, 50 Hz transformer has the following constants'

primary reactance [Xr) : 0.2Q secondary reactance (Xz)=b"of*
primary resistance El) : 0.4 O secondary resistance E, : 0.1 O
core resistance E"): 1500 o magnetization reactance [xr) -- 75a a

\Mhat lvould be the reading of the instruments (wattmeter, voltmeter and ammeter)
when the transformer is connected for the open circuit and short circuit tests (both

./ tests are performed from primary side)?
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Ouestion 3: (tLl,Iork)
Objectives: This question is related to transformer performance
A 15-kVA 800A/n0-V distribution transformer has impedance refened to the primary
of 80 + j300 O. The components of the excitation branch refened to the primary side
are Ra:350kO andX^:70 k{2
(a) If the pnmary voltage is 8000 v and the load impedance is z;3 .2+jl .5 o, what is

the secondary voltage of the transformer? What is the voltage regulation of the
transformer? What is the efficiency?

(b) If the load is disconnected and a capacitor of -j3.5 O is connected in its place,
'rvhat is the secondary voltage of the transformer? What is its voltage regulation
under these conditions? \l&at is the efficiency?
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